
1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 6 

DRAWN

CHECKED

QA

MFG

APPROVED

CW 12/9/2022

DWG NO

EVO-FLEX-TYP

TITLE

EVO-FLEX TYPICAL

SIZE

C

RENLITA

REV

3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
 
TOLERANCES
 
.X=±.050
.XX=±.015
.XXX=±.005
FRACTIONAL ± 1/16
ANGULAR ±.5

VIEW IS FROM EXTERIOR

8'-3" [2515]
MOUNTING FRAME WIDTH

4'-7 1/2" [1410]
MOUNTING

FRAME
HEIGHT



1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 2  OF 6 

DRAWN

CHECKED

QA

MFG

APPROVED

CW 12/9/2022

DWG NO

EVO-FLEX-TYP

TITLE

EVO-FLEX TYPICAL

SIZE

C

RENLITA

REV

3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
 
TOLERANCES
 
.X=±.050
.XX=±.015
.XXX=±.005
FRACTIONAL ± 1/16
ANGULAR ±.5

A

A

B B

C C

H H

K

K

L L T

VIEW IS FROM INTERIOR

8'-0" [2438] OPENING WIDTH

4'-6" [1372]
OPENING
HEIGHT



1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 3  OF 6 

DRAWN

CHECKED

QA

MFG

APPROVED

CW 12/9/2022

DWG NO

EVO-FLEX-TYP

TITLE

EVO-FLEX TYPICAL

SIZE

C

RENLITA

REV

3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
 
TOLERANCES
 
.X=±.050
.XX=±.015
.XXX=±.005
FRACTIONAL ± 1/16
ANGULAR ±.5

SECTION VIEW - DOOR OPEN

4'-3 9/16" [1310]

4'-6" [1371]



SECTION A-A
SCALE 1/2 SECTION K-K

SCALE 1/2

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 4  OF 6 

DRAWN

CHECKED

QA

MFG

APPROVED

CW 12/9/2022

DWG NO

EVO-FLEX-TYP

TITLE

EVO-FLEX TYPICAL

SIZE

C

RENLITA

REV

3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
 
TOLERANCES
 
.X=±.050
.XX=±.015
.XXX=±.005
FRACTIONAL ± 1/16
ANGULAR ±.5

BULB SEAL

1" [25]

DOOR FRAME

FLUSH BOLT EACH END

DORIC HINGE

#10 X 2" FLAT HEAD WOOD SCREW

1 1/2" X 3/4" ALUMINUM TUBE
W/ PLUG ON EACH END

ADHESIVE BACKED D-SEAL

TOP ANGLE

DOOR FRAME

FINISHED SILL

5/16" [8]

Ø3/16" COUNTERSUNK RIVET
EACH END

2X4 BY OTHERS

1/4" [6]

3/8" [10]

1 7/16" [36] CTR OF FLUSH BOLT & HANDLE



SECTION B-B
SCALE 1/2

SECTION L-L
SCALE 1/2

DETAIL  T
SCALE 1 / 2

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 5  OF 6 

DRAWN

CHECKED

QA

MFG

APPROVED

CW 12/9/2022

DWG NO

EVO-FLEX-TYP

TITLE

EVO-FLEX TYPICAL

SIZE

C

RENLITA

REV

3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
 
TOLERANCES
 
.X=±.050
.XX=±.015
.XXX=±.005
FRACTIONAL ± 1/16
ANGULAR ±.5

ROCKWOOD 110-RKWC6B CONCEALED HARDWARE PULL HANDLE
W/ (2) 1/4"-20 STAINLESS STEEL RIVET NUT

SIDE ANGLE

ADHESIVE BACKED D-SEAL

DOOR FRAME

2X4 BY OTHERS

#10 X 2" FLAT HEAD WOOD SCREW

1 1/2"X1 1/2"X1/16" X 3" TALL ALUMINUM TUBE
PLUG AT EACH END

FLUSH BOLT STRIKE
FRAME SIDE ANGLE

FLUSH BOLT

FLUSH BOLT

(4) Ø3/16" COUNTERSUNK RIVET

2 1/2"X1 1/2"X1/8" ALUMINUM TUBE
W/ PLATE CAP ON TOP AND PLUG ON BTM



SECTION C-C
SCALE 1/2

SECTION H-H
SCALE 1/2

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 6  OF 6 

DRAWN

CHECKED

QA

MFG

APPROVED

CW 12/9/2022

DWG NO

EVO-FLEX-TYP

TITLE

EVO-FLEX TYPICAL

SIZE

C

RENLITA

REV

3

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES.
 
TOLERANCES
 
.X=±.050
.XX=±.015
.XXX=±.005
FRACTIONAL ± 1/16
ANGULAR ±.5

GAS SPRING MOUNTING BRACKET

GAS SPRING

DOOR FRAME

ADHESIVE BACKED D-SEAL

SIDE ANGLE

1/4" X 2" HEX HEAD SELF DRILLING SCREW

GAS SPRING

2X4 BY OTHERS

2 1/2"X1 1/2"X1/8" ALUMINUM TUBE
W/ PLATE CAP ON TOP AND PLUG ON BTM

DOOR FRAME

ADHESIVE BACKED D-SEAL

FRAME SIDE ANGLE

#10 X 2" FLAT HEAD WOOD SCREW

SIDE ANGLE

2X4 BY OTHERS

1 3/8" [36] (2) Ø3/16" DOME HEAD RIVETS

DORIC HINGE

FRAME SIDE ANGLE

10MM BALL STUD
W/ 5/16"-18 LOCK NUT

2 1/2"X1 1/2"X1/8" ALUMINUM TUBE
W/ PLATE CAP ON TOP AND PLUG ON BTM

1 1/2" X 3/4" ALUMINUM TUBE
W/ PLUG ON EACH END


